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QID : 1 - In the following question, select the related word pair from the given alternatives.
Power : Watt::?:?
fafafEa uy 8 Ry g fadredt & § defaa g g Y gl

Foif:afe::?:?

Options:

1) Pressure : Newton

o e

2) Force : Pascal

el : UT¥ehel

3) Resistance : Mho

ufaRier : |t

4) Work : Joule

&1 : S

Correct Answer: Work : Joule
&1 - S

Candidate Answer: Work : Joule

&1 : ST

QID : 2 - In the following question, select the related letters from the given alternatives.
NPBG: OQCH :: AJOT :?

frfafea uer & Ry 7y faeredt & @ "efda oreri o gfwl

NPBG: OQCH :: AJOT : ?

Options:

1) BKPU

2) BUPK

3) BHKP

4) HBKU
Correct Answer: BKPU
Candidate Answer: BKPU

QID : 3 - In the following question, select the related number from the given alternatives.
101:10201::107:?

feafafEa uy 8 Ry g foered § @ defda d@we & gl

101:10201::107:?

Options:

1) 10707

2) 10749

3) 11449

4) 11407
Correct Answer: 11449
Candidate Answer: 11449

QID : 4 - In the following question, select the odd word from the given alternatives.

FfafEa w7 Ry 77g fahedt § 9 fawm <reg &t gi-g)


http://thepracticetest.in/cs_cglet1_17/logout.php?appid=1368062d74107fc05177712c90c3885c
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Options:
1) Lion

2) Leopard
dger

3) Snake
arq

4) Tiger
1

Correct Answer: Snake
919

Candidate Answer: Snake
|

QID : 5 - In the following question, select the odd letters from the given alternatives.

FeafafEa vy 8 Ry g et § @ fawm srert ot gig

Options:
1) NPR

2) TVW
3) FHJ

4) KMO
Correct Answer: TVW
Candidate Answer: TVW

QID : 6 - In the following question, select the odd number from the given alternatives.

fafafea vy 8 Ry g e § @ fowm dwen &t gl
Options:

1) 69

2) 59

3)61

4) 53
Correct Answer: 69
Candidate Answer: 69

QID : 7 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Ropped
2. Roster
3. Roasted
4. Road

5. Roller

frffaa el &t areaentsr & o1 aTet oA & SR ford|

1. Ropped
2. Roster
3. Roasted
4. Road

5. Roller

Options:
1) 35412
2) 45312
3) 34512

4) 43512
Correct Answer: 43512
Candidate Answer: 43512

QID : 8 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
BCF, CDG, DEH, ?
e reRH foam mar 8, O € Uk ug e &1 Ry g freredt & 9 ag 98t fdeen 9T, St SrgehH ol quT Rl

BCF, CDG, DEH, ?



Options:
1) EFI

2) EFG

3) DFI

4) EGI

Correct Answer: EFI

Candidate Answer: EFI

QID : 9 - In the following question, select the missing number from the given series.
2,5,12,27,?

frfafea uer & Ry 1y et § & g sies 71a RIfSg)

2,5,12,27,?

Options:
1) 53

2) 56
3) 57

4) 58
Correct Answer: 58
Candidate Answer: 58

QID:10-If 'P 3 Q' means 'P is daughter of Q, 'P 5 Q' means 'P is father of Q','P 7 Q' means 'P is mother of Q' and 'P 9 Q' means 'P is sister of Q, then how is J related
toKinJ3L9N305K?

IR PIQ@AFPQFGANE, P5QAFAIPQA UM, P7Q &#af PQR AN M PIQ HAf'PQATFEa8, @ J3LIN3 0 5KH, J, KT frg yerR Taifda &2
Options:

1) Mother

qrdr

2) Wife

gt

3) Niece

ofSit

4) Daughter

Correct Answer: Niece

Candidate Answer: [ NOT ANSWERED ]

QID : 11 - Rakhi got engaged 10 years ago. Rakhi's present age is 5/3 of her age at the time of engagement. If the present age of Rakhi's mother is twice that of
present age of Rakhi, then what was her mother's age (in years) at the time of her engagement?

7 <l TS 10 AN Ut g3 Y| A hl IAT 1Y ITh! TS o GHY Y g hi 5/3 &1 A I Al A Y Gt 1Y I atd g Y QT 8, df AT i TS o T I&ehl Af
&6 g (TSt H) @ of?

Options:

Correct Answer: 40
Candidate Answer: 40

QID : 12 - In the following question, from the given alternative words, select the word which cannot be formed using the letters of the given word.
Suspensefulness

&g g g #, fafeiRad faeredt & § a8 <1eg gAY St &g 71q 2162 o 7&RT 1 TA1T eheeh g1 ST i HehdT 8

Suspensefulness

Options:

1) Sense

2) Fuels

3) Useful

4) Fullness
Correct Answer: Fullness
Candidate Answer: Fullness



QID : 13 - In a certain code language, "BAD" is written as "7" and "SAP" is written as "9". How is "BAN" written in that code language?

e fAfE i o &, "BAD" &t "7" foran ST § T "SAP" @t "9" forar ST 81 39 ehts WSt | "BAN" @t fohd UehR foran sam?
Options:

18

2)3

3)4

4)6
Correct Answer: 8
Candidate Answer: 8

QID : 14 - In the following question, correct the equation by interchanging two signs.
9x3+8+4-7=28
fFafofea usr , gt &) nfordia Sferarsi @t smog & wRER Feae Ry 1y gefieor ot gt fifsigl

9x3+8+4-7=28
Options:

1) xand -

X d9r -

2) +and -

+ QYT -

3)+and+

+qur +

4) x and +

X dgr +

Correct Answer: x and +
X T +

Candidate Answer: x and +
X a1 +

QID:15-1f4*5%3=8000and 2 * 3 % 2 = 36, then
4*3%3=7?
af&4*5%3=8000quT2%3%2=368!,d

4*3%3=?

Options:

1) 432

2) 1728

3)36

4)144

Correct Answer: 1728
Candidate Answer: 1728

QID:16-
In the following question, select the number which
can be placed at the sign of question mark (?) from
the given alternatives.

TeataTag v # fr ow eeur # @ uw e
(?) & FAS W A arelt &4 H FAT

3 4 2
|28t 1] [2[1a8]8] [[7]7]
5 3 5
Options:
1) 43
2) 49
3)59

H7n



Correct Answer: 71
Candidate Answer: [ NOT ANSWERED ]

QID:17-

How many triangles are there in the given figure?

& o st # Ree gt ¥

/ Y
.
e
\\ v
RN
o B
e s
<
5 e
L
Options:
1) 20
2) 22
3) 28
4) 32

Correct Answer: 22
Candidate Answer: 20

QID : 18 - In each of the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if they seem
to be at variance from commonly known facts, read all the conclusions and then decide which of the given conclusion logically follows the given statements.

Statements:

|. Some pens are pencils.
II. All pencils are erasers.

Conclusions:

|. Some pens are erasers.
Il. No pens are erasers.
Ill. Some erasers are pencils.

A2 Rw 7T udes ue B $© YA SR I a1 I hl W TR $© e fag g &, grerifen S amr 71 aet @ fOradn g gendt &1 aoft fsen g ofk fiRr FufRa R f R
Qg & & feent &g 7Tq et & SR R gihea 81

hYA:

|. $® hed 9 81
1. goft UfeT R &1

fAseptf:

|. S HeH WR &l
II. Y e &R eI &1
1. T &R OfEa &1
Options:
1) Only conclusion (I1) follows.
et fwendt (1) T &1
2) Only conclusion (1) and (11) follow.
ahaet fseny (1) dor s (1) Tt &1
3) Only conclusion (1) and (I11) follow.
et e (1) qar R (1) 9t &
4) No conclusion fo.llé)ws.
I
Correct Answer: Only conclusion (1) and (1) follow.

haet fAwnd (1) ot s (1) T8t

Candidate Answer: Only conclusion (I) and (l1l) follow.

haet fAwnd (1) aut s (1) T8t



QID:19-

Three positions of a cube are shown below. What
will come opposite to face containing ‘I'?

#r e " A FgraT SRt i ¥ e
& T ol vae W FiT @1 5T 3F
HTIA?

Options:
VI

2) IV
3l

49V
Correct Answer: V|
Candidate Answer: VI

QID: 20-
In the given figure, how many pens are blue?
& o2 Y A, fraa o e €2
Black / A
/19/\15\ | Pens]
11/ 19 \ 12 o
Blue / &fremr
Options:
1) 23
2)19
3)12
4)15

Correct Answer: 23
Candidate Answer: 23



QID:21-
Which answer figure will complete the pattern in the
question figure?

He W IR Fpla oy FEla & ulaww & g
et

~

Options:
1)

o

Correct Answer:

Candidate Answer:




QID:22-
From the given answer figures, select the one in
which the question figure is hidden/embedded.

& o2 3 IEadl # @ 3W W Hgha # gaw
S & un amefa @k B

7

Options:

1)

4

Correct Answer:

4

Candidate Answer:

4




QID: 23-
A piece of paper is folded and punched as shown
below in the question figures. From the given
answer figures, indicate how it will appear when
opened?

= F Uy Hplad # RREmw 3gER Fee &
Az DS JWT Ted & aIg 98 FF 39 HE
s g gam?

XX
Options:
1)
0]
2)

Correct Answer:

L

o

e

Candidate Answer:

L

@]

—




QID:24-
If a mirror is placed on the line AB, then which of the

answer figures is the right image of the given
figure?

ofe o TUOT FF AB TET W @ AW, ar & T
39T ApAAl # @ B O dpa uy wea &

Ter ufafesrs aefr?

Options:
1

N

SHSRERE]

H

Correct Answer:

p>

Candidate Answer:

P>




QID:25-

A word is represented by only one set of numbers as given in any one of
the alternatives. The sets of numbers given in the alternatives are
represented by two classes of alphabets as shown in the given two
matrices. The columns and rows of Matrix-1 are numbered from 0 to 4 and
that of Matrix-ll are numbered from 5 to 9. A letter from these matrices can
be represented first by its row and next by its column, for example, ‘K’ can
be represented by 01, 34, etc., and ‘P’ can be represented by 65, 99, elc.
Similarly, you have to identify the set for the word “BLAND”.

U Qg dhdd U HEAT-UE gRT gofar s@m @, Star i fawedt # &
e v & ar wrn € Reedt & Br ow gwaraeg sent & g ant
grr geir ww € Star B RBu v g eyt # & e & e i
ufer & gEar 0 & 4 ¥ 3 wegEn H 5 9) =5 Y d uh HEW A
upel 36 ufeh 3R @ A waFw dwar gRT gRifT S wear §1 sareor
& fow ‘K @ 01, 34, 3% T g ST wwar ¥ awr P @ 65, 99,
MG AT gl S @bl §1 3W ol ¥ U uA # QU g
“BLAND” & far @eg @ ugaEar &I

Matrix-l Matrix-Il
HIeE-| gl
AEAEEIE 5]/6|7[8]9
O|A|K|B|L|C 5|N(O|P|S|D
1[B|A|C|K|L 6|P|D|S|N|O
2|L|C|K|[B[A 7|0|P|N[D|S
3|C(B|L|A[K B8[D[(S|O|P[N
4[K[L|A[C[B o[s[N|D|O[P

Options:
1) 10, 14, 00, 68, 79

2) 31,41, 33,96, 86
3) 44, 20, 42, 88, 59

4) 23, 32,24, 55, 66
Correct Answer: 23, 32, 24, 55, 66
Candidate Answer: 23, 32, 24, 55, 66

QID : 26 - At which rate, Reserve Bank of India borrows money from commercial banks?

fre R W, wRdt Rerd o anforsg et & oA IUR ar 82

Options:

1) Bank Rate

FE R

2) Repo Rate

W R

3) Reverse Repo Rate
{W R

4) Statutory Liquidity Rate

i AT &

Correct Answer: Reverse Repo Rate

MR

Candidate Answer: Repo Rate
W

QID : 27 - Movement along the supply curve is known as

MY aoh F AT AT T R e 2l
Options:
1) Contraction of supply

e

2) Expansion of supply
3Tgfd & iR

3) Increase in supply
A gerast

4) Expansion and contraction of supply

STt & fawdR qe e



Correct Answer: Expansion and contraction of supply
IR qo e

Candidate Answer: Increase in supply

SR & s

QID : 28 - What is the minimum age required to become vice-president of India?

TR T IU-TEURT T o ol AT 311y w11 g1 a1fgq?
Options:

1) 30 years

30 @y

2) 35 years

3539

3) 40 years

40 a9

4) 37 years

3739

Correct Answer: 35 years
35af

Candidate Answer: 30 years

30 af

QID : 29 - Which of the following "writ" of the High Court or the Supreme Court is issued to restrain a person from holding a public office which he is not entitled to?

Fafofea 3 3 o ar =R smeer S =T a1 ITaas =g gRT [t safs o fhdt g srafaa &R sifder wa @ e & forg STt fosar ST 82

Options:
1) Centiorari
C

2) Mandamus

RHTRRT

3) Prohibition

[EERIE

4) Quo Warranto

SAHPR geaT

Correct Answer: Quo Warranto
PEJ

Candidate Answer: Mandamus
TRHTET

QID : 30 - Who was the son of Chandragupta Maurya?

T HRf o1 G i AUT?

Options:
1) Bindusara

2) Chandragupta Il

T |
3) Ashoka
CRiCH

4) Binbsara
[EERIKS
Correct Answer: Bindusara

Candidate Answer: Bindusara

QID : 31 - Which dynasty came to power in India after the Tughlag dynasty?

WRA # ITeTes I S STG i &7 ST ME H 3771 87

Options:

1) The Guptas

e g1

2) The Khiljis

farerstt gar

3) The Mughals

T €21

4) The Sayyids

e 91

Correct Answer: The Sayyids

e 91

Candidate Answer: The Khiljis
CRl



QID : 32 - Which planet is considered as the Dwarf planet?

fong U et &I U HIAT ST 872

Options:
1) Earth
gedft

2) Jupiter
Few@fd

3) Pluto

4) Saturn
NIE
Correct Answer: Pluto

Candidate Answer: Pluto

QID : 33 - Sandstone is which type of rock?

TG TR fohd UerR &Y T2 87
Options:
1) Calcareous Rock

AR T
2) Igneous Rock
g

3) Metamorphic Rock

4) Sedimentary Rock
STy

Correct Answer: Sedimentary Rock
Candidate Answer: Metamorphic Rock

FATART T

QID : 34 - Wheat is a .

T TH gl
Options:

1) Creeper

ER

2) Herb
anufy

3) Shrub
EISH

4) ‘free

g8

Correct Answer: Herb
3

Candidate Answer: Shrub

QID : 35 - Snakes, turtle, lizards and crocodiles falls under which category of animals?

qra, g, fudhelt duT wRA=S Sigei & foha Soft § e 82

Options:

1) Pisces
arsa)

2) Amphibian
NEEYEEN

3) Reptilian

4) Aves
geft

Correct Answer: Reptilian

Candidate Answer: Reptilian

QID : 36 - Which of the following instrument is used to measure Soil Water Tension?

T H S a1d A1 o flq T fond ST aret I Y oRIT gt ST 87



Options:
1) Photometer
TeRTRHATY

2) Pyrometer
AT

3) Psychrometer
g

4) Tensiometer
Correct Answer: Tensiometer

Candidate Answer: Tensiometer

QID : 37 - What is the Sl unit of Force?

ST T T 31T HTIh T 82

Options:
1) Pascal
UT¥ehel

2) Boyle
EICC

3) Newton

e
4) Watt
ate

Correct Answer: Newton
Candidate Answer: Newton

Sl

QID : 38 - Which one of the following is a bad Thermal Conductor?

fafafea § @ @9 a1 e o1 35w uRares 82

Options:
1) Aluminium

2) Copper
GICH

3) Glass
oftam

4) Silver
Si)

Correct Answer: Glass
sftamr

Candidate Answer: Glass
sftam
QID : 39 - Which of the following stores data permanently in a computer?

frafafea § 9 o Freger & wrl w0 @ grer d@ftd awar 82
Options:

1) ALU

RASAN

2) Cache Memory
her FARY

3) RAM

Ee ]

4) ROM

|

Correct Answer: ROM

Candidate Answer: ROM
=

QID : 40 - Rusting is .

ST 8l



Options:

1) Electrolysis
farega sroaeA
2) Oxidation
STeRteRvoT

3) Redox reaction (Oxidation and Reduction)
Y&t srfAferar (sifarfterzor oik sroaaH)

4) Reduction

=g

Correct Answer: Redox reaction (Oxidation and Reduction)
3R 3rg=EE)

andidate Answer: Oxidation

QID : 41 - Which amongst the following is not a Cation?

f=fafaa & g = a1 g g=mae 78l 82
Options:
1) Aluminium ion
AT
2) Copper ion
PR S
3) Sulphate ion
Tthe A
4) Zinc ion
fSien o=
Correct Answer: Sulphate ion
AT

Candidate Answer: [ NOT ANSWERED ]

QID : 42 - Which of the following is not a component of Smog?

FfaifEa & § &9 91 G YA-ahleR ol 9 ol 87

Options:
1) Volatile organic compounds

uRad=efier Sifaes difirn
2) Nitrogen Oxide
SICSIESS

3) Sulphur dioxide
Tt SIS3IHIIgS
4) Chlorine oxide
SIESIESS
Correct Answer: Chlorine oxide
FARA SHieraTES
Candidate Answer: Chlorine oxide
FARA SHiraTES

QID : 43 - NITI Aayog has been formed to replace which of the following institution?

e st a1 fRafor fR=fofea & @ forg T & @ w s man 82

Options:
1) Planning Commission

2) IRDA
s IR.ET.
3) Department of Telecommunications (DoT)

AR fmr

4) Department of Information Technology
G drenfirhy femr

Correct Answer: Planning Commission

ST ST

Candidate Answer: Planning Commission

ST ST

QID : 44 - Who invented first working laser?

UG ShTH e aTell AR ohT SIS fhae fomar ur?



Options:

1) A. H. Taylor

Q. gd. &R

2) W. K. Roentgen
g, . Aeo

3) T. H. Maiman
& . A

4) Fred Morrission

Correct Answer: T. H. Maiman
& . Ay

Candidate Answer: T. H. Maiman
& . Ay

TOP RANKERS'

where career starts

QID : 45 - Which of the following venue hosted its first ever test match on 9th November, 2016 which was played between India and England?

fafofea & 9 fhg 8 7 ugell IR 9 TR, 2016 & YR sAH FTS & A 1 TS fohar ur?

Options:

1) JSCA Intgrnational StadiL“l'm Complex, Ranchi

S.gg. Ly, iR *feam,

2) Saurashtra Cricket Association Stadium,

IR fohdhe waifuem Rfeam, Torale

3) Himachal Pradesh Cricket Association Stadium, Dharamshala

TeeT fohche TEIRGIH RfeTm, dwamen
4) Holkar Cricket Stqdium, Indore

Biea fohahe Rfeam, R

Correct Answer: Saurashtra Cricket Association Stadium, Rajkot

I Rfeam,

Rajkot

Candidate Answer: Holkar Cricket Stadium, Indore

Bl fohdhe Rfeam, R

QID : 46 -
Match the following.

Ereafafem & Bee fimT

Artist | SrellehiT

1. Gauri Shankar Devilal a.
Tty ereRT EdTere

2. Hari Prasad Chaurasia b.
& warg =i

3. M. F. Hussain C.

4. Zakir Hussain d.

Options:

1) 1-a, 2-d, 3-b, 4-c
2) 1-b, 2-c, 3-a, 4-d
3) 1-c, 2-a, 3-b,4-d

4) 1-c, 2-b, 3-3, 4d
Correct Answer: 1-c, 2-a, 3-b,4-d
Candidate Answer: 1-c, 2-a, 3-b,4-d

QID : 47 - Who is the only Indian cricketer to have received the Polly Umrigar award 3 times?

forT R YRR fohdhe faeTet @t i IR uTel) SFITR R & wwifaa foman man &2

Options:
1) Sachin Tendulkar
i

2) Virender Sehwag
IR wgam
3) Virat Kohli

farTe gt

4) Ravichandran Ashwin

Correct Answer: Virat Kohli

foRTe Sigett

Art form [ &ell
Flute

argdr

Painting
e

Kathak

GG

Tabla

GEGU



Candidate Answer: Virender Sehwag
IRz wgam

QID : 48 - Who is the author of the book titled "The Sellout"?

' A3 AT T&ich oh Taeh i 67
Options:
1) Paul Beatty
arer It
2) Arvind Adiga
3Rfde erm
3) Elenor Catton
&ed

4) Howard Jacobson

Correct Answer: Paul Beatty
ofeT gt

Candidate Answer: [ NOT ANSWERED ]

QID : 49 - Which country was designated as the major defence partner of USA in December, 2016?

for Aar At feemeR, 2016 # Tgh o0 SMREAT &l Fa9 T & Fgan aiftd foha T o?

Options:

1) Canada

el

2) Israel

ESNES]

3) India

YRT

4) United Kingdom
fhmen

Correct Answer: India
HRd

Candidate Answer: Canada
ST

QID : 50 - With which country India did its seventh edition of bilateral EKUVERIN Exercise 2016 at Kadhdhoo?

TR A foRT 321 & T127 2016 F S0 AIdar fggefta Geeneor ggaRe srare ey & fohar oam?
Options:

1) Nepal

arer

2) Pakistan

uTfRET

3) Maldives

AT

4) Bhutan
A=

Correct Answer: Maldives
Candidate Answer: [ NOT ANSWERED ]

QID : 51 -If X and Y are the two digits of the number 347XY such that the number is completely divisible by 80, then what is the value of X + Y?

i X IUTY ek T=AT 347XY & &Y 3ich 9 U & fob e 80 ¥ quid: faenfoia gt st &, at X + Y o1 |1 R 872
Options:

12

2)4

3)6

4)8

Correct Answer: 2

Candidate Answer: 2

QID : 52 - A, B and C can complete a work in 20, 24 and 30 days respectively. All three of them starts together but after 4 days A leaves the job and B left the job 6
days before the work was completed. C completed the remaining work alone. In how many days was the total work completed?

A, B T C foneft hrdf ot shmat: 20, 24 qm 30 AT # gr7 ove Fend 81 i1 A ferent ol SR fomam tReg 4 & o ugra A =t & ol 1S o oo B A ol g1 811 & 6 i ugt sk
Bte R C 7 v s ardhet & gof fovam| et oprf Y g1 e | Rt R ot g

Options:
1)10

2)12
3)14

4)16



Correct Answer: 14
Candidate Answer: 14

QID : 53 - A solid sphere of diameter 17.5 cm is cut into two equal halves. What will be the increase (in cm?) in the total surface area?

17.5 9.7}, T dTet Tk B1 Tt T &Y SRR A hrer S 1 ot gea kel & fhat gfg (3.2 ) €hfie

Options:
1) 289

2) 361.5
3) 481.25
4) 962.5

Correct Answer: 481.25
Candidate Answer: [ NOT ANSWERED ]

QID : 54 - After a discount of 34% an article is sold for Rs 3168. What is the marked price (in Rs) of the article?

34% & ZT o TG Yeh g ol 3168 T. H ST ST & | % i 3w Hew (2. #) = 8?

Options:
1) 4750

2) 4800
3) 4850

4) 5000
Correct Answer: 4800
Candidate Answer: 4800

QID :55-

if $P=%Q, i e tis st o Pead Q

respectively?

R SP-LQ ¥ & ww: P aA Q @t T
T &

Options:

112:77

2)12:33

3)28:33

4)3:28
Correct Answer: 28 : 33
Candidate Answer: 28 : 33

QID : 56 - The average of 17 results is 60. If the average of first 9 results is 57 and that of the last 9 results is 65, then what will be the value of 9t result?

17 ufRomma &1 sitaa 60 €1 afe uam 9 uRRomst ot sitwa 57 & T sifaw 9 aRomt & sitwa 65 &, a9 & uRRoms o1 | o= gim?

Options:
1) 39

2)78
3)117

4) 156
Correct Answer: 78
Candidate Answer: 78

QID : 57 - For an article the profit is 1770% of the cost price. If the cost price increases by 20% but the selling price remains same, then what is the new profit

percentage?

e g o o g 1 170% A1 BT & | I 578 T | 20% I G Bidlt & wifch faeha Hew I 8T 8, df =11 amef ufaerd fove 82
Options:



Correct Answer: 125
Candidate Answer: 125

QID : 58 - 32% of a number exceeds 17% of the same number by 120. What is the value of the number?

fortt Tizeam ot 32% I T=AT & 17% T 120 31k &1 T2 ol 71 T 82

Options:
1) 900

2) 860
3) 940

4) 800
Correct Answer: 800
Candidate Answer: 800

QID: 59 -
A boat goes 15 km upstream and '10% km downstream

in 3 hours 15 minutes. It goes 12 km upstream and 14
km downstream in 3 hours. What is the speed of the
boat in still water?

TR AT 3 ue 15 fee & 15 fRa. amn & uiage
aar 10%%5.ﬁr.umaswm?ﬁ%lu$3€i-&ﬁ

12 frah. o & ufage @ 14 feah O &
Hggpe A &1 TR S 7 A A afy w4 e

Options:
1)4

2)6
3)10

4)14
Correct Answer: 10
Candidate Answer: [ NOT ANSWERED ]

QID : 60 - A person lent certain sum of money at 5% per annum simple interest and in 15 years the interest amounted to Rs 250 less than the sum lent. What was the
sum lent (in Rs)?

o cafxh foreht fAfgya Af Y 5% Y anfiien ox & TreRoT SoTel UR IUR a1 & q2T 15 aut § G saret Y iy Iy § 1 AfA & 250 %, A &1 IR & 7S A (3. F) e of?
Options:

1) 1000

2) 1500

3) 2400

4) 3000

Correct Answer: 1000

Candidate Answer: 3000

QID: 61 -
If x= 2+J§,then what is the value of x+1?
2-<f3 X
Ilﬁ:x=2+"{§,a‘1‘x+laﬁr AT T &

Hefs X



Options:
1) 14

2)8v3
3)0

4)18
Correct Answer: 14
Candidate Answer: 14

QID:62-

If x=2+«j§:then what is the value of @—FL?

J2x

e Bl e 4,
afe x=2++3, 9t J2x @aﬁrmw%?

Options:
1) 2v3

2)3v3
3) (3v3+1)/2

4)2V3 +1
Correct Answer: (3v3 +1)/2
Candidate Answer: (3v3 + 1)/2

QID: 63 -

If x+1=4, then what is the value of x° +i?
X x°

::lﬁ:x+%=4:a*rx5+iszﬁrm?ra:m%?
X

Options:
1) 52

2) 256
3)1026

4) 2702
Correct Answer: 2702
Candidate Answer: 2702

QID: 64-
If y=?_—§, then what is the valie of —— + 2Y*1
+

?
yil -1

Ilﬁ[y=2_x,?-ﬁ 1 +2-‘2’+1aﬁrmr—rm%?
1+x y+1 y -1




’ ™
?ptions: o where career starts
(1+ x)(2 - x)
2x —1
2)
(1-x)(2+ x)
x—1
3)
(1+x)(2—x)
1-2x
4)
(1+x)(1-2x)
2—x
Correct Answer:
(1+ x)(2 - x)
1-2x

Candidate Answer: [ NOT ANSWERED ]

QID : 65 - In the triangle ABC, BAC = 50° and the bisectors of zABC and ~ACB meets at P. What is the value (in degrees) of 2BPC?

11T ABC #, £BAC = 50° 7T ABC T £ACB & f§+71e1eh foig P R e €1 2BPC &1 719 (Rt #) fere ghm?
Options:

Correct Answer: 115
Candidate Answer: 115

QID : 66 - Two circles of same radius intersect each other at P and Q. If the length of the common chord is 30 cm and distance between the centres of the two circles
is 40 cm, then what is the radius (in cm) of the circles?

T A aret & g1 Uk g@R @t P aur Q W ufassfed e &1 aft swafe Sftar 6t eiwarg 30 .4, & q it gt 3 dhe O ot < gt 40 .. B, at g B B (@ H) feat &2
Options:

Correct Answer: 25
Candidate Answer: 25



QID: 67 -
In the given figure, QRN =40°, /PQR = 46° and
MN is a tangent at R. What is the value (in degrees)
of x, y and z respectively?

& 78 3 A, QRN = 40°, ZPQR = 46° g
MN T&g R @ meF <7 3@T &1 Fomn: X, yaumz
w1 A (FEah #) Fam &2

o //-"— _‘\\‘
P ‘\_
/%e\ \
I A T

\ \ H\\\x 3 )/

Ty

-~

N

Options:
1) 40, 46,94

2) 40, 50, 90
3) 46, 54, 80

4) 50, 40, 90
Correct Answer: 40, 46, 94
Candidate Answer: 40, 46, 94

QID : 68 - In APQR, £R = 54°, the perpendicular bisector of PQ at S meets QR at T. If zTPR = 46°, then what is the value (in degrees) of ~PQR?

APQR#, £R = 54°, fig S & PQ 1 GfgTsTen o QR 9 fofg T W= fiietar 81 af £TPR = 46° §, @t £PQR &1 A (f&3t #) &/ ghm?

Options:

1) 25

2) 40

3) 50

4) 60

Correct Answer: 40
Candidate Answer: 50

QID: 69 -
cotA+tanB7

What is the simplified value of —————*
atis the simplified value of —— -~ —

cotA+tanB
ey ) | PIE‘I@HETIH HT &7
cotB+tan A %

Options:
1) tan B cot A

2) tan A cot B
3)tan Atan B

4) cot A cotB
Correct Answer: tan B cot A
Candidate Answer: cot A cot B



QID:70-
. 1 2
What is the simplified value of L J 2

cosec A+cot A

-

L : JEHWWM%’?

cosec A+cot A

Options:
1) sec A +tan A

2) (1 - cos A)/(1 +cos A)
3) (1 - cosec A)/(1 + cosec A)

4) sin A
Correct Answer: (1 — cos A)/(1 + cos A)
Candidate Answer: (1 — cos A)/(1 + cos A)

QID : 71 - If cos? 8 — sin 8 = %, then what is the value of sin 8?

afE cos2 0 — sin O = %, A sin O &1 HF T E?

Options:

1) -1

2)1/2

3)1

4) 3/2

Correct Answer: 1/2
Candidate Answer: 1

QID:72-
The table below shows the number of students of a
college studying Arts, Science, Commerce and
Business for given 5 years.

g & o8 afee # e AgiogTew # feT aw 5
aut # e, TOAE, OIS JUT WOEE USA drel
SIS Y G&UT & 2T T &

Year | Arts | Science | Commerce | Business
a¥y | e ICEICH aftsw | cuau
2012 48 105 148 32
2013 56 123 136 30
2014 64 125 144 36
2015 78 148 156 36
2016 92 161 168 48

What is the percentage increase in number of students of Commerce from 2012 to 2016?

2012 & 2016 de aTforsy & ST i T F fha ufdsra 6 gfg g5 82

Options:
1)11.16

2)17.28
3) 13.51

4) 15.67
Correct Answer: 13.51
Candidate Answer: 13.51



QID:73-
The table below shows the number of students of a
colliege studying Arts, Science, Commerce and
Business for given 5 years.

g & e afee # e Fgiomew # T w5
aut # e, ToeE, Tfo=w U TIET Ued O
oIST Y &7 FY ST T &

Year | Arts | Science | Commerce | Business
a¥y | el ICEIG aftsw | cuau
2012 48 105 148 32
2013 56 123 136 30
2014 64 125 144 36
2015 78 148 156 36
2016 92 161 168 48

What is the simple annual growth rate (in %) of the number of students of Business from 2012 to 2016?

2012 & 2016 T TaGT & B! hl TAT Y a1fes T g & (% &) fhat &2

Options:

1) 10

2)12.5

3)15

4)17.5

Correct Answer: 12.5

Candidate Answer: [ NOT ANSWERED ]|

QID:74-
The table below shows the number of students of a
college studying Arts, Science, Commerce and
Business for given 5 years.

dr & o8 afee # e AgiogTew A f@T amw 5
aut # e, AT, OIS JUT SWOEE USd arel
SISl Y TEUT & ST T ¥

Year | Arts | Science | Commerce | Business
ay | e ICEIGH s | cuaE
2012 48 105 148 32
2013 56 123 136 30
2014 64 125 144 36
2015 78 148 156 36
2016 92 161 168 48

What is the ratio of average number of students studying Arts per year and average number of students studying Science per year?

AT U aTel BTH1 hl U hl ek Sftd T fam ue aTet ST &t T <t anftfer Sftad a1 SiguTd &1 82

Options:
1) 169: 331

2)66:169
3)127: 261

4)32:75



Correct Answer: 169 : 331
Candidate Answer: 169 : 331

QID:75-
The table below shows the number of students of a
college studying Arts, Science, Commerce and
Business for given 5 years.

g & a8 afere # e AgiemTem A feT amw 5
aut # e, TOAE, AU JUT WOEE USA arel
SIS Y TEAT B ST T &

Year | Arts | Science | Commerce | Business
ay | el GG s | cuaE
2012 48 105 148 32
2013 56 123 136 30
2014 64 125 144 36
2015 78 148 156 36
2016 92 161 168 48

Which year shows the maximum percentage increase in the total number of students in these 4 subjects over the previous year?

T 4 fowal & ot o h g | fond g & 77 o & Fed arfdres ufasa gfg g8 82

Options:
1) 2013
2) 2014
3) 2015
4) 2016

Correct Answer: 2015
Candidate Answer: [ NOT ANSWERED ]

QID : 76 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If a
sentence is free from error, select 'No Error'.

The two men were (1)/ quarrelling with one another (2)/ claiming the same watch as their own. (3)/ No Error (4)
Options:

Correct Answer: 2
Candidate Answer: 2

QID : 77 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If a
sentence is free from error, select 'No Error'.

Everybody knows (1)/ that Bhutan is the most peaceful (2)/ of all other countries of the world. (3)/ No Error (4)
Options:

1)1

2)2

3)3

44

Correct Answer: 3

Candidate Answer: 3

QID : 78 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate it
by selecting the appropriate option.

The higher you climb, the more difficult it to breathe.
Options:

1) became

2) becomes

3) has become

4) is becoming

Correct Answer: becomes



Candidate Answer: becomes

QID : 79 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate it
by selecting the appropriate option.

Neha has been crying morning.
Options:

1) from

2) of

3) since

4) till

Correct Answer: since

Candidate Answer: since

QID : 80 - In the following question, out of the four alternatives, select the word similar in meaning to the word given.

Opulent

Options:

1) Fake

2) Gloomy

3) Rich

4) Selfish

Correct Answer: Rich

Candidate Answer: Rich

QID : 81 - In the following question, out of the four alternatives, select the word similar in meaning to the word given.

Morose
Options:
1) Flatter
2) Gloomy
3) friendly
4) Savvy

Correct Answer: Gloomy
Candidate Answer: Gloomy

QID : 82 - In the following question, out of the four alternatives, select the word opposite in meaning to the word given.

Irk

Options:

1) Attract

2) Discourage
3) Irritate

4) Please

Correct Answer: Please
Candidate Answer: Please

QID : 83 - In the following question, out of the four alternatives, select the word opposite in meaning to the word given.

Grotesque

Options:

1) Free

2) Odd

3) Plain

4) Queer

Correct Answer: Plain
Candidate Answer: Plain

QID : 84 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

To keep the wolf from the door
Options:

1) Avoid starvation

2) Crack the deal

3) Entry prohibited

4) Have a pleasant tour

Correct Answer: Avoid starvation
Candidate Answer: Avoid starvation

QID : 85 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

Teething problems



Options:

1) Oral problems

2) Problems at the start of a new project

3) Problems for quite a long time in adjusting in the new place
4) Problem of having good dentist

Correct Answer: Problems at the start of a new project
Candidate Answer: Problems for quite a long time in adjusting in the new place

QID : 86 - Improve the bracketed part of the sentence.

She did not like to have coffee (nor I did).

Options:

1) neither [ liked it
2) nor did |

3) nor | like it

4) No improvement
Correct Answer: nor did |
Candidate Answer: nor did |

QID : 87 - Improve the bracketed part of the sentence.

Taj Mahal is (a worth seeing monument) in Agra.
Options:

1) a monument to see its worth

2) a monument worth seeing

3) one of worth seeing monuments

4) No improvement

Correct Answer: a monument worth seeing
Candidate Answer: No improvement

QID : 88 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the phrase.

That which cannot be corrected
Options:

1) Impregnable

2) Immolation

3) Incorrigible

4) Ineligible

Correct Answer: Incorrigible
Candidate Answer: Incorrigible

QID : 89 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the phrase.

A person who is blamed for the wrong doings of others
Options:

1) Bursar

2) Captor

3) Phlegmatic

4) Scapegoat

Correct Answer: Scapegoat

Candidate Answer: Scapegoat

QID : 90 - In the following question, four words are given out of which one word is incorrectly spelt. Select the incorrectly spelt word.
Options:

1) Conceive

2) Leisure

3) Neice

4) Reign

Correct Answer: Neice

Candidate Answer: Neice

QID : 91 - In the following question, four words are given out of which one word is incorrectly spelt. Select the incorrectly spelt word.
Options:

1) Dictionory

2) Irrelevant

3) Perishable

4) Tangible

Correct Answer: Dictionory

Candidate Answer: Dictionory



QID : 92 - The question below consists of a set of labelled sentences. Out of the four options given,
select the most logical order of the sentences to form a coherent paragraph.

P- It had been umpteen years since we had seen each other.

Q- One dull dark day in autumn, | was travelling on horseback through a dreary stretch of countryside.
R- This was the house of Roderick Usher, who had been my childhood pal.
S- At night fall, | came in sight of the house of Usher.

Options:

1) PQSR

2) PSQR

3) QSRP

4) QRSP

Correct Answer: QSRP

Candidate Answer: QRSP

QID : 93 - The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a coherent
paragraph.

P- According to various estimates, between 1942 and 1944 there were approximately 400 victims of this practice daily in Warsaw alone, with numbers on some days
reaching several thousands.

Q- A common German practice in occupied Poland was to round up random civilians on the streets of Polish cities.

R- For example, on 19th September 1942 close to 3000 men and women were transported by train to Germany — they had been caught in the massive round-ups all
over Warsaw the previous two days.

S- The term, "lapanka" carried a sardonic connotation from the word's earlier use for the children's game known in English as "tag".

Options:

1) SQRP

2) SRPQ

3) QSPR

4) QPRS

Correct Answer: QSPR

Candidate Answer: [ NOT ANSWERED ]

QID : 94 - In the following question, a sentence has been given in Active/Passive voice. Out of the four alternatives suggested, select the one which best expresses
the same sentence in Passive/Active voice.

An elephant may be helped even by an ant.
Options:

1) An ant can even help a elephant.

2) An ant may even help a elephant.

3) Even an ant may help an elephant.

4) Even an ant ought to help an elephant.

Correct Answer: Even an ant may help an elephant.
Candidate Answer: Even an ant may help an elephant.

QID : 95 - In the following question, a sentence has been given in Direct/Indirect speech. Out of the four alternatives suggested, select the one which best expresses
the same sentence in Direct/Indirect speech.

"Please don't cry" he said.

Options:

1) He begged that | should not cry.
2) He begged me not to cry.

3) He said to please him and not cry.
4) He told me to not to cry.

Correct Answer: He begged me not to cry.
Candidate Answer: He begged me not to cry.

QID : 96 - In the following questions, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate it
by selecting the appropriate option.

The of lectures could be enhanced by introducing the lecture with a brief review of the work it should also be indicated how the day's lecture into the
course pattern. A lecture should _____ be presented in one unbroken discourse. Unless exceptionally interesting, a long lecture strains the ____ of a concentrated
listening, causing intermittent wandering of attention and loss of continuity in thought.

The of lectures could be enhanced by introducing the lecture
Options:

1) condition

2) effectiveness

3) efficiency

4) interest

Correct Answer: effectiveness

Candidate Answer: effectiveness




QID : 97 - In the following questions, the sentence given with blank to be filled in with an appropriate word.
Select the correct alternative out of the four and indicate it by selecting the appropriate option.

The of lectures could be enhanced by introducing the lecture with a brief review of the work , it should also be indicated how the day's lecture into the
course pattern. A lecture should be presented in one unbroken discourse. Unless exceptionally interesting, a long lecture strains the of a concentrated
listening, causing intermittent wandering of attention and loss of continuity in thought.

with a brief review of the work , it should also be indicated
Optisrending

2) preceding

3) reciting

4) succeeding

Correct Answer: preceding

Candidate Answer: succeeding

QID : 98 - In the following questions, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate it
by selecting the appropriate option.

The of lectures could be enhanced by introducing the lecture with a brief review of the work , it should also be indicated how the day's lecture into the
course pattern. A lecture should be presented in one unbroken discourse. Unless exceptionally interesting, a long lecture strains the of a concentrated
listening, causing intermittent wandering of attention and loss of continuity in thought.

how the day's lecture
Options:

1) adds

2) fits

3) gets

4) lets

Correct Answer: fits

Candidate Answer: fits

into the course pattern.

QID : 99 - In the following questions, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate it
by selecting the appropriate option.

The of lectures could be enhanced by introducing the lecture with a brief review of the work , it should also be indicated how the day's lecture into the
course pattern. A lecture should be presented in one unbroken discourse. Unless exceptionally interesting, a long lecture strains the of a concentrated
listening, causing intermittent wandering of attention and loss of continuity in thought.

A lecture should ____ be presented in one unbroken discourse.
Options:

1) continuously

2) often

3) randomly

4) seldom

Correct Answer: seldom

Candidate Answer: continuously

QID : 100 - In the following questions, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate
it by selecting the appropriate option.

The ____ of lectures could be enhanced by introducing the lecture with a brief review of the work _____, it should also be indicated how the day's lecture _____ into the
course pattern. A lecture should be presented in one unbroken discourse. Unless exceptionally interesting, a long lecture strains the of a concentrated
listening, causing intermittent wandering of attention and loss of continuity in thought.

a long lecture strains the ___ of a concentrated listening, causing intermittent wandering of attention and loss of continuity in thought.
Options:

1) authority

2) capacity

3) comfortability

4) reasonability

Correct Answer: capacity

Candidate Answer: capacity





